ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINATION 2021-2022

CLASS-V Marks: 100
Duration:2 hours

GENERAL INSTRUCTIONS

Read the instructions carefully before answering

1. Please fill up your Roll No. and class in the box provided on the OMR sheet.

2. This question booklet contains 50 questions and S Tie Breaker questions. All questions

including ‘Tie Breaker Questions’ are mandatory. Tie Breaker questions will be evaluated only in

case of a Tie.

3. Each question carries 2 marks.

4. Each question has 4 answer choices a, b, ¢, d.

5. For each question, select the best/correct option and darken the bubble completely against the

corresponding question in the OMR sheet provided.

6. Use a blue/black ball point pen to darken the bubble.

7. Darken only one bubble against each question.

8. There will be no negative marking.

Choose the correct options to complete the sentences.

1. My computer often crashes and turns off by
a) himself b) itself ¢) themselves d) ourselves

2. Red looks than blue in this painting.
a) bright b) brighter ~ ¢) more brighter d) the brightest

3. ‘Tina reads comic books.’
In the above sentence, the object is

a) Tina b) reads ¢) comic books d) none

4. Choose the correct antonym of the word ‘grand’.

a) splendid  b) magnificent ¢) modest d) sumptuous
5. My grandma and grandpa to Florida every summer.

a) go b) goes c) going d) went
6. Lata parked the car in the narrow space.

a) skilfully b) richly ¢) oddly d) quickly
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Choose the correctly spelt word.
a) ingrediants  b) ingredeants c) ingredians  d) ingredients

If a boat travels at the speed of 20 km in one hour, how far would the boat go in 5’2 hours?
a) 100 km b) 110 km c) 105 km d) 120 km

What is the greatest common factor of 12 and 24?
a)6 b) 12 c) 24 d) 36

What time will be shown by a clock, if the angle made by the needles is more than a right

angle?

a) 2 pm b) 3 am c) 11 pm d) 5 pm
6 hours is - part of a day.

a) s b) Y4 c) s d) %

The fencing of a square garden is 96m in length. How long is one side of the garden?
a) 24m b) 14m c) 24cm d) 12m

Ajay took a loan of 8,000 from the bank. He paid back 750 every month for one year. How
much money did he pay back to the Bank?
a) Rs 8000  b)Rs 9000 ¢)Rs 7000  d)Rs 6000

The sum of two numbers is 93861. If one number is 21600, what is the other number?
a) 72261 b) 115461 c) 73261 d) 124461

Which is greater? 0.5, 0.05 or 0.005?
a) 0.05 b) 0.5 c) 0.005 d) equal

International number name for 407003 is

a) Four hundred seven million three b) Four hundred seven thousand three
c) Four lakh seven thousand three d) Four million seventy thousand three

uses its tongue to smell.
a) A dolphin b)Asnake c)Anowl d) A cockroach

The Nepenthes plant attracts insects to trap by a special
a) Hand b) Flowers  c¢) Smell d) Stem




19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

Which tree’s bark was used to prepare medicine for malaria?
a) Teak b) Kadamb c) Coral Tree d) Cinchona

Iodised salt is a good source of

a) Iron b) lodine c) Calcium  d) Phosphorus

Our mouth has a gland called

a)Tongue b) Pineal gland c¢) Salivary gland d) Pituitary gland

The light seed which is used to cook food.
a) Cumin b) Mango c¢) Chana d) Apple

The young one of a mosquito is called
a) Puppy b) Kitten c) Calf d)Larvae

Name the seed which is dispersed by water.
a) Lotus b) Rose c¢) Marigold d) Hibiscus

Name the instrument played by blowing air.
a) Been b) Guitar c) Sitar d) Tabla

How many players are required in a basketball team?
a) 5 b) 10 c) 1l d) 7

Respect for all kinds of work and the people who do them is called

a) division of labour b)dignity of labour
¢) labour services d) emergency services

Al-Biruni came from a place now known as
a) Tajikistan b) Pakistan c¢) Uzbekistan d) Iran

The Capital City of Rajasthan is --------
a) Mumbai b) Ahmedabad c)Jaipur d)Ajmer

Who was the first Indian woman to climb Everest?
a) Sunita Williams. b) Mary Com c) SaniaMirza  d) Bachendri Pal

------ is a cone shaped tent.
a) Igloo b) Rebo c¢) Bamboo houses_ .. d) Donga
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A place where antique things are kept......
a) Library b) Museum c) Stadium  d) Aquarium

He fought for justice for the people who were treated as untouchables. He was the Chairman of
the drafting committee of our constitution. Identify the personality.

a) Pt. Jawaharlal Nehru. b) Mahatma Gandhi

c¢) Dr. BhimRao Ambedkar. d) Sardar Vallabhbhai Patel.

The name given to the beautiful arches of the old houses in Srinagar.

a) dab b) donga c) mehraab d) khatamband

Group of owls is called ------- .

a) brood b) pride ¢) pack d) parliament

------ is the national currency of Japan.

a) Dollar b) Yen c) Ruble d) Taka
Who became the youngest prime minister of India?

a) Chandra Shekhar b) PV Narasimha Rao c) Gulzarilal Nanda d) Rajiv Gandhi

Name the author of the book “Wings of Fire”.
a) Jawaharlal Nehru b) Sarojini Naidu c) A P J Abdul Kalam d) Lal Bahadur Shastri

The World Environment Day is celebrated on
a) December 5 b) August 5 c) July 5 d)June 5

A doctor gives you three pills advising you to take one, every half hour. How long would the
pills last?
a) 3 hours b) Y4 hour c¢) 1 hour d) 2 hours

What number do you get when you multiply all of the numbers on a telephone number pad?
a) 1000 b) 10000 c) 100000 d)0

Which one of the five is least like the other four?
JUNE, JULY, MARCH, AUGUST, MAY
a) JUNE b) MARCH ¢)AUGUST d) MAY.

The smallest 4 digit number formed by using the digits 3, 5, 0 and repeating 3 twice is:
a) 3350 b) 3530 c) 3035 d) 3053

How many 7s are there between two 2s in the following number series?
542729827782
a) 1 b) 4 c)3 d)2


https://www.studyadda.com/question-bank/4th-class/mental-ability/numbers/number-system/4942

45. A duck, a goose, a goat and a horse all entered the barn at different times one day.
e A mammal entered the barn first.
e The duck entered before the goose
e The goose entered ahead of the horse.
e Who entered the barn first?

a) Duck b) Horse c) Goose d) Goat.

46. In a certain code INACTIVE is written as VITCANIE. How is COMPUTER written in the same
code?
a) UTEPMOCR b) MOCPETUR
¢) ETUPMOCR d) PMOCRETU

47. A woman introduces a man as the son of the brother of her mother. How is the man related to
the woman?
a) Nephew  b) Son c¢) Cousin d) Uncle to Grandson

48. Hema walks towards West, after travelling some distance, she takes a right turn and again after

travelling some distance she takes a left turn. In which direction will she be facing now?
a) North b). East c) West d) South

49. How many quadrilaterals are there in the given figure?

a) 4 b)5 c)3 d) 2

50. Sam ranked 9th from the top and 38th from the bottom in a class. How many students are there
in the class?
a) 45 b) 46 c) 47 d) 48
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Tie Breaker

The Sardar Sarovar dam is built on the river.

a) Ganga b).Yamuna c). Kaveri d). Narmada

Which part of the brain remains active even when we are asleep?

a) Cerebrum b)Medulla Oblongata c¢)Spinal Cord d)Cerebellum

If walking means flying, Flying means Crawling, Crawling means Swimming, and Swimming
means Running. Then which type of animal is a snake?

a) Crawling b) Swimming c) Walking d) Running.

Choose the correct synonym of the word ‘sternly’.

a) casually b) funnily c) lightly d) seriously

How many cards are there in a complete pack of cards?
a) 32 b) 42 c) 52 d) 62

sk sk sk sk sk sk sk sk ske sk sk sk sk sk sk sk sk sk sk sk sk skeosk skeokeskok sk



